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Section : Part-A-General Intelligence and Reasoning

Q1 Which of the following groups of letters when sequentially placed from left to right will complete the given series?
defgh defghidefg idefghidef hidefghide ghi
Ans X 1. ihhf
X 2. ehgf
v 3 ihgf
X 4. defg
Q.2

In a certain code language, if TEA is coded as RFY, COFFEE is coded as APDGCF, then what will SUGAR be coded
as?

Ans X 1. QSEYP
« 2. QVEBP
X 3. TVHBS
X 4 QTEZP
Q3 In the following question, select the related letter pair from the given alternatives.
DGKX : FIMZ :: ?
Ans

X 1. WXZB : MLUD
X 2. XCBA: TSBO
X3 BLRO:AYWZ
« 4 FVKG : HXMI



Dell
Stamp


Q.4

Ans

In the following question below are given some statements followed by some conclusions based on those statements.
Taking the given statements to be true even if they seem to be at variance from commonly known facts. Read all the

conclusions and then decide which of the given conclusion logically follows the given statements.
Statements:

I Some U are C.

IL NoLis U.

Conclusion:

I Some L are U.

II. Some C are not L.
< 1. Both conclusions I and II follows

X 2. Only conclusion I follows

# 3. Neither conclusion follows

« 4. Only conclusion IT follows

Q.5

Ans

In a certain code language, if RAINBOW is coded as 'S190C15X' and SUNSHINE is coded as 'T210TI905', then what
will MOONLIGHT be coded as?

A 1. N1515M90HIU
X 2. N15150ON9HIU
X 3. N151509MHIU
« 4. N15150M9HIU

Q.6

Ans

P, Q.R. S, T, Uand V are sitting in a row facing North. U is to the immediate right of T. T is fourth to the right of V. R

is the neighbour of Q and S. Person who is third to the left of S is at one of ends. Who is sitting on the immediate right
of R?

X1 U
X2 Q
X3 P
L4 S

Q.7

Ans

In the following question, select the related letters from the given alternatives.

AFT:ACI::NRV:?
X 1. RQP
X2 UVB
¥ 3. NPV
X 4 CBA




Q.8

Ans

In the following question, select the missing number from the given series.

74, 61, 82, 53, 90, ?
X1 44
X2 40
X3 43
s 4 45

Q.9

Ans

Two positions of a dice are given below. What will come on the face opposite to the face containing ‘3’ on it?

S (S
(e

Q.10

Ans

A paper is folded and cut as shown below. How will it appear when unfolded?

o 1.

VAN




Q.1

Ans

In the following question, select the figure which can be placed at the sign of question mark (?) from the given
alternatives.
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Q.12

Ans

Seven girls P, Q, R. S, T, U and V are sitting in a row facing towards the south (not necessarily in the same order). Q
and R are immediate neighbour of each other. Q is at one of the extreme ends. P is fourth to the left of Q. U is not the
immediate neighbour of either P or R. S is second to the right of V. Who is sitting on the immediate right of R?

X1V
X2 P
3 Q
X4 T

Q.13

Ans

Which of the following numbers will replace the question mark (?) in the given series?
8,16,7,14,5,10,1,2,?

VAR

X2 4

X3 7

X4 9




Q.14

Ans

After arranging the given words according to dictionary order, which word will come at *Fourth’ position?
L. Private

2. Prison

3. Privacy

4. Privy

5. Privilege

« 1. Privilege
X 2. Prison
X 3. Privy

X 4. Privacy

Q.15

Ans

In the following question, select the figure which can be placed at the sign of question mark (?) frem
the given alternatives.

WAl =]

X 3. O

X 4. O

Q.16

Ans

Which two signs should be interchanged to make the given equation correct?
28+ 12-6*40+8=46

X 1. % and -

X 2. xand +

X3 +and -+

¢ 4 +and -




Q17

Ans

P+ Q means P is the brother of Q, P * Q means P is the mother of Q, P+ Q means P is the father of Q and P — Q means
Pisthesister of Q. IfAx B+ C—D + E —F, then how is A related to F?

X 1. Father’s sister
X 2. Mother

X 3. Mother’s mother
+ 4. Father’s mother

Q.18

Ans

f6@10#5*7=63and4 @3#2*5=15.thend @ 5#6*7="2
1. 41
X2 28
X 3. 39
X4 18

Q.19

Ans

Three different positions of the same dice are given below. Find the number opposite of 7.

X2 20
X3 15
4 3

Q.20

Ans

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
LMRC, PQVG, TUZK, XYDO, ?
X 1. BTSQ
X 2. RBMN
X 3. BMRN
« 4 BCHS

Section : Part-B-General Knowledge and General awareness

Q.1

Ans

Which state's Chief Minister launched 'Kalaignar Magalir Urimai Thogai Thittam' initiative with the goal of
empowering the women of the state?

X 1. West Bengal
X 2. Madhya Pradesh

+ 3. Tamil Nadu
X 4. Kerala




Q.2

Ans

Into how many distinctive types of territories was the Harshvardhan’s Dynasty divided?
X 1. Four

X 2. Three

+ 3. Two

X 4. Five

Q.3

Ans

Duleep Trophy is associated with
A 1. badminton

« 2. cricket

X 3. football

X 4. basketball

Q.4

Ans

Read the following about the impact of Green Revolution to the farmers in India.

A. The introduction of the Green Revolution helped the farmers in raising their level of income.
B. Farmers ploughed back their surplus income for improving agricultural productivity.
Identify the INCORRECT statement/statements.

X 1. Only A

« 2. Neither Anor B
X 3. Only B

X 4 BothAandB

Q.5

Ans

Under the Pradhan Mantri Jan Dhan Yojana (PMIDY), of households provided with a Jan Dhan Account in
Madhya Pradesh as on August 09, 2023.

2 1. 50 percent
X 2. 25 percent
X 3. 75 percent
« 4. 100 percent

Q.6

Ans

Ustad Bismillah Khan is a famous exponent of

X 1. dholak
" 2. shehnai
/< 3. tabla

# 4. harmonium

Q.7

Ans

Which of the following article of Indian Constitution is related to the Finance Commission of India?

+ 1. Article 280
X 2. Article 290
X 3. Article 260
X 4. Article 270




Q.8

Ans

Green revolution can also be termed as:
X 1. World revolution

X 2. White revolution

X 3. Blue revolution

« 4. Agricultural revolution

Q.9

Ans

Which of the following articles of the Indian Constitution mentions that no person accused of any offence shall be
compelled to be a witness against himself?

X 1. Article 14
X 2. Article 18
X 3. Article 16
« 4 Article 20

Q.10

Ans

In which sport the Participants are called Pugilist?

# 1. Badminton
X 2. Hockey

+ 3. Boxing

X 4. Tennis

Q.11

Ans

With the Theory of Relativity, transformed the landscape of physics, this theory majorly contributed
to designing the theory of Quantum Mechanics.

+ 1. Albert Einstein
X 2. Galileo Galilei
X 3. Paul G. Hewitt
X 4. Isaac Newton

Q.12

Ans

To which of the following states does the dance form Lavani belong?
# 1. Tamil Nadu
X 2. Madhya Pradesh

+ 3. Maharashtra
X 4 Assam

Q.13

Ans

Which of the following is the highest award for dance in India?
# 1. Guru Debaprasad Award

X 2. Nritya Shiromani

< 3. Kalidas Samman

« 4. Sangeet Natak Akademi Award




Q.14

Ans

Which of the neighbouring countries used to be parts of India?
X 1. Nepal and China

X 2. Indonesia and Bhutan

+ 3. Pakistan and Bangladesh

A 4. Sri Lanka and Maldives

Q.15

Ans

Which of the following states have the lowest female literacy rates as per 2011 census?

# 1. Jharkhand

X 2. Uttar Pradesh
+ 3. Rajasthan

X 4. Kerala

Q.16

Ans

Who was awarded the 'Udyog Ratna' award (2023) established by the Maharashtra government?

« 1. Ratan Tata

X 2. Apand Mahindra

X 3. Adi Godrej

X 4. Laxmanrao Kirloskar

Q17

Ans

Which sport is played by the Indian sportsperson Anaka Alankamony?
« 1. Squash
< 2. Table Tennis

& 3. Badminton
X 4. Hockey

Q.18

Ans

The Service Tax, a tax on services like telephone services, stock brokers, health clubs, beauty parlors, dry cleaning
services, etc., was introduced in

« 1. 1994-95

X 2. 1993-94

2 3.1991-92

X 4.1992-03

Q.19

Ans

Sarojini Naidu served as President of the Indian National Congress in

« 1. 1925
X 2. 1935
X 31931
X 41921

Q.20

Ans

The "Losar" festival, celebrated in Ladakh and Tibetan communities. marks the

« 1. Wew Year Festival
X 2. Winter Solstice Festival
& 3. Harvest Festival

X 4. Monsoon Festival




Section : Part-C-Elementary Mathematics

Q1 Evaluate: 6 +2 % (9-4)+2.
Ans X112

X2 14

3 11

X4 16

Q.2 Ramesh’s salary is 20 percent more than Raman’s salary. If Ramesh saves Rs. 33750 which is 75 percent of his salary.
then what is Raman’s salary?

Ans X' 1. Rs. 30750
X 2. Rs. 35700
X 3. Rs. 35500
« 4 Rs. 37500

Q.3 The selling price of an article is Rs. 1690. If discount of 35 percent is given. then what will be the marked price of the
arficle?

Ans 1. 2600
X 22500
X 3. 2800
X 4. 2700

Q.4 If 70 percent of total articles are sold at a profit of 20 percent and remaining articles are sold at a loss of 10 percent, then
what will be the overall profit percentage?

Ans 1. 12 percent
X 2. 8 percent
X 3. 15 percent
o 4. 11 percent

@5 What is the value of 2.3 + 4.3

Ans 21

X 1.
4

22
X2 —
7

20
&3 =
3

13
X4 =
7

@6 Find the value of (27 x 50) + 25 x 5(15-14) + 800 + 25.
Ans X 1. 366

X2 420

¥ 3. 302

x4 312




Q7

Ans

P and Q together can complete a work in 30 days. Q and R together can complete the same work in 37.5 days. R and P
together can complete the same work in 150 days. In how many days can all the three complete the same work while

working together?
2 1. 20 days
X 2. 25 days
X 3. 35 days
« 4. 30 days

Q.8

Ans

The average income of 35 employees is Rs. K. If the income of manager is also included, then the average income
becomes Rs. 19000. If the income of the manager is Rs. 54000, then what is the value of K?

X 1. Rs. 19,200
« 2. Rs. 18,000
X 3 Rs. 18,800
X 4. Rs. 17,700

Ans

Average age of 22 teachers is 64 years. After involving a new teacher in that group the average increases by 1 year.
What is the age of the new teacher?

X 1. 93 years
« 2. 87 years
X 3. 89 years
X 4. 9] years

Q.10

Ans

The simple interest received on a sum for 20 years is 2/5 of the sum. What is the annuval rate of interest?
« 1. 2 percent

X 2. 2.5 percent

X 3. 3 percent

X 4. 4 percent

Q.11

Ans

What is the value of 64 percent of 512 + 46 percent of 2157

« 1. 426.58
X 2. 42458
X 3. 42758
X 4 428.58

Q.12

Ans

In a mixture, milk and water are in ratio of 2 : 3. Some milk is added to the mixture because of which ratio of milk and

water becomes 10 : 3. How much milk was added as a percentage of initial mixture?
< 1. 100 percent
2 2. 140 percent
« 3. 160 percent
X 4. 120 percent




Q.13

Ans

Arvind can do a work in 20 days and Bakshi in 22 days. If they work on it together for 5 days, then the fraction of the
work that is left is :

v 1. 23/44
X 2 28/15
X3 17/7

X 4. 63/20

Q.14

Ans

A man buys 35 pens for a rupee. How many pens should he sell for a rupee to earn a profit of 40 percent?
X1 34
¥ 2 25
X3 27
X 4 37

Q.15

Ans

The ratio of the income to the expenditure of a family is 19: 13. If the family’s expenses are Z 29,510, then find the

savings of the family.
« 1. 213,620
X2 T 15,550
<3 % 14,440
<42 12,240

Q.16

Ans

A 600 metres long train crosses a man walking in opposite direction in 20 seconds. If the speed of train is 5 times to the

speed of man, then what is the speed of train?
1. 90 kimvhr

X 2. 108 kmvhr

X 3. 54 km/hr

X 4. 72 kmv/hr

Q.17

Ans

Find the height of the triangle whose base is g th of its height and whose area is 18.207 cm?.

« 1. 7.14 cm
X2 8cm

X3 225cm
X4 147 cm

Q.18

Ans

What is the value of (0.5)% + (0.05)22

¥ 1. 0.2525
X 2.0.255
X3 25

X 4.0.5025




Q.19 On Selling a book at 16/25 of the marked price there is a loss. What will be the ratio of marked price and selling price of
the book?
Ans X' 1. 3:8
X28:3
3 25:16
X4 16:15

Q.20 simple interest and compound interest (compounding annually) on a principal at a certain rate of interest for 2 years is
Rs. 12000 and Rs. 14400 respectively. What is the principal?

Ans 1. Rs. 15000
X 2. Rs. 22000
X 3. Rs. 17000
X 4. Rs. 18000

Section : Part-D-English

Q1 Select the most appropriate option for the given blank.

each other's hands: otherwise, vou will fall.
Ans X 1. Carry
X 2. Keep
X 3. Clap
+ 4 Hold

Q2 gelect the most appropriate option for the given blank.

It's  to see how the movie star acted in real life.
Ans X 1. Disappointed
X 2. has disappointed
X 3. Disappoint
« 4. Disappoinfing

@3 Choose the most appropriate synonym of the underlined word.

That young woman has a tendency to date men who are similar to her father.
Ans X 1. Apathy
X 2. Inactivity
X 3. Indifference
« 4. Propensity




Q.4

Ans

Improve the underlined part of the sentence. Choose “No improvement” as an answer if the sentence is grammatically

correct.

The truck driver pull over to the side of the road.

X 1. pulls under
+ 2. pulled over
X 3. pulling over

X 4. No improvement

Q.5

Ans

Fill in the blank with the most appropriate option.

Banda Bahadur was defeated by Farrukhsivar and put to death in 1716, the Shikh polity, once again. became

leaderless.

+ 1. thus

X< 2. however
X 3. because
X 4. henceforth

Q.6

Ans

Select the incorrectly spelt word from the given sentence.

An increasingly smart navigation aids in the cockpit brought far greater precision and effeciency to route planning.
« 1. effeciency

X 2. precision

X 3. navigation

X 4. increasingly

Q.7

Ans

Choose the most appropriate antonym of the underlined word.

And death and bereavement are hardly the only troubles that this conflict brings to a Palestinian childhood.

+ 1. Comfort
X 2. Distress

X 3. Tribulation
X 4. Sorrow

Q.8

Ans

Find the part of the given sentence that has an error in it. If there is no error, choose *No error’.

Technologies that circumvent censorship is increasingly a matter of life and death.

X 1. matter of life and death
X 2. Technologies that circumvent

« 3. censorship is increasingly a

X 4. No error




Q.9

Ans

Identify the segment that contains a grammatical error. If there is no error, select No error’.

I loved Joe - perhaps for no best reason / in those early days than / because the dear fellow let me love him.
X 1. in those early days than

« 2. I loved Joe - perhaps for no best reason

# 3. No error

Z 4. because the dear fellow let me love him.

Q.10

Ans

The sentence has been divided into three parts, identify the error segment in the sentence given below. Choose no error
if there is no error in the sentence.

She travelled to the/ conference accordingly to/ her manager's instructions.

2/ 1. no error

« 2. conference accordingly to
X 3. her manager's instructions.

# 4. She travelled to the

Q.11

Ans

In the following question. out of the given four alternatives, select the alternative which best expresses the meaning of
the Idiom/Phrase.

Play your ace
« 1. Use your best resource
X 2. To play carefully
X 3. End an activity
X 4. To sell a property

Q.12

Ans

Select the sentence with no spelling errors.

1.

But he always replied only with a superior smile when asked by reporters to put the philsophy and the tripel ethic into
words.

x< 2.
But he always replied only with a supereor smile when asked by reporters to put the philosophy and the triple ethic into

words.

& 3
But he always replied only with a superior smile when asked by reporters to put the philosophy and the triple ethic into

words.

X 4
But he always replied only with a superior smile when asked by reporters to put the philusophy and the triple ethic into

words.

Q.13

Ans

Select the most appropriate option for the given blank.

Please give me one more to prove my innocence.

< 1. bet
" 2. chance

X 3. occasion
X 4. blind




Q.14

Ans

Choose the idiom/phrase that can substitute the highlighted group of words meaningfully.

Stop preaching. You must understand that it is tougher to do something in reality than to say or think.

+ 1. Easier said than done
X 2. Bolt from the blue

X 3. Make no bones about
X 4. Chew the cud

Q.15

Ans

Improve the underlined part of the sentence. Choose ‘No improvement” as an answer if the sentence is grammatically

correct.

The flowers have a very strongly scent.
2 1. very strongest

« 2. very strong

< 3. very stronger

X 4. No improvement

Q.16

Ans

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Welcoming the Italian Prime Minister on her first (1) to India, the President said that she was happy to see a
voung and confident woman (2) Italy. She noted that Ms. Meloni is not only the first woman Prime Minister of

Italy but also the (3) ever Prime Minister of her country.

The President said that India and Italy enjoy excellent friendly relations. As modern and mature democracies, India and
Italy are committed to achieving economic growth based (4) the rule of law, respect for human rights, and

inclusive development. She expressed confidence that this visit would re-energize India-Italy (5) relations.

SubQuestion No : 16
Select the most appropriate option for blank (1)

1. visit

X 2. reach

X 3. calling
X 4. launching




Q.17

Ans

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Welcoming the Italian Prime Minister on her first (1) to India, the President said that she was happy to see a
young and confident woman (2) Italy. She noted that Ms. Meloni is not only the first woman Prime Minister of

Ttaly but also the (3) ever Prime Minister of her country.

The President said that India and Italy enjoy excellent friendly relations. As modern and mature democracies, India and
Italy are committed to achieving economic growth based (4) the rule of law, respect for human rights, and

inclusive development. She expressed confidence that this visit would re-energize India-Italy (5) relations.

SubQuestion No : 17

Select the most appropriate option for blank (2)
« 1. leading

X 2. executing

X 3. procuring

X 4. expanding

Q.18

Ans

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Welcoming the Italian Prime Minister on her first (1) to India, the President said that she was happy to see a
young and confident woman (2) Italy. She noted that Ms. Meloni is not only the first woman Prime Minister of

Ttaly but also the (3) ever Prime Minister of her country.

The President said that India and Italy enjoy excellent friendly relations. As modern and mature democracies, India and
Italy are committed to achieving economic growth based (4) the rule of law, respect for human rights, and
inclusive development. She expressed confidence that this visit would re-energize India-Italy (5) relations.

SubQuestion No : 18

Select the most appropriate option for blank (3)
X 1. younger

« 2. youngest

X 3. youthful

X 4. young




Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Welcoming the Italian Prime Minister on her first (1) to India, the President said that she was happy to see a
young and confident woman (2) Italy. She noted that Ms. Meloni is not only the first woman Prime Minister of
Ttaly but also the (3) ever Prime Minister of her country.

The President said that India and Italy enjoy excellent friendly relations. As modern and mature democracies, India and
Italy are committed to achieving economic growth based (4) the rule of law, respect for human rights, and

inclusive development. She expressed confidence that this visit would re-energize India-Italy (5) relations.

SubQuestion No : 19

Q19 Select the most appropriate option for blank (4)
Ans X 1. along
¥ 2. On
X3 to
X 4. Af
Comprehension:
Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.
Welcoming the Italian Prime Minister on her first (1) to India, the President said that she was happy to see a
voung and confident woman (2) Italy. She noted that Ms. Meloni is not only the first woman Prime Minister of
Italy but also the (3) ever Prime Minister of her country.
The President said that India and Italy enjoy excellent friendly relations. As modern and mature democracies, India and
Italy are committed to achieving economic growth based (4) the rule of law, respect for human rights, and
inclusive development. She expressed confidence that this visit would re-energize India-Italy (5) relations.
SubQuestion No : 20
Q.20

Select the most appropriate option for blank (5)

Ans & 1. bilateral
X 2. corporeal

X 3. solitary

X 4. exclusive

Section : Part-D-Hindi

A ffafed aeg §, 39 aeui & ugarte fad aerei § gsfiq et §) afe eI Tedt eI df o gfe
T ¢ B g9 oy
USHid AR O9™ &1 Gae Ueiie = 3 S0 916 § Y& g3, Hifes uafa/ ded & i, =g 91 s |

A X Y BIEIEIE § IE e, i Upha
X 2. Yopld SR H9 &1 Jay Ve =f®
X Bl ICTRIE
v+ Ugd &l ff, FRA a1E § oS




Q.2

T 71T I F [@iferg e & T T8r a3« 719 Hfer|

HoF e & BT SET E
Ans x1m

X 2 HISTET
v 3 glemem
X 4. gharer

Q.3

SIS
fdhdrel dhier

v g YUY UG H T TeH aral

X 2. UQTy 4 gX HRT drell Al

X3 U Biel ol S & Hifd fhdre @1 orar &
X 4 IagH UgT H aren [HGid

Ans

fFraffad w8 U U ar fGeedt & 9, 39 fheT &7 997 33 of QU T ggeR & 2l ol Td9y 0 ¥ =

Q.4

faU 70 19 H 3W@ifdhd Usg &I degd 2eq JId DIl

TG St 1 S s |

Ans 'K1'T
x 2. g
X 3. TR

o 4 W

Q.5

fGU 77U q1gg § ¥@ifdd Use &1 [ddd ss F1d Sifog|

HOTRA 1 SiaeH fear
Ans )

X 2. hghl]

X3 Siare

v JELs




Q.6

Ans

f&U 77U ara H Yw@ifdhd Ueg &1 fqdH Xse I1d HIfod|
IE GHE TG B IS W T

X 1. TES

X 2. 3gu

X3 sy

R CACTU

Q.7

Ans

mwmﬁmmmwmwwmmaﬁﬁaﬁl
ot diea &1 oid € 3qA Arar-Rar i € T8 guar?

X 1. qldd
« 2. gl
X 3. odlg
K4 oA

Q.8

Ans

=T o &, 91 fFeat # ¥, 37 GFeT &1 797 = & o o # B w8 =& &
e TreFeT gl

T EHTE IR, T A 39 G W
X1 @ET

X 2 FETET

v 5 THE

X4 grer

Q.9

Ans

Fafiied uy 5, 9R Aol § 9, 39 5w &1 9g9 &3 ol 3T U T’ &1 3fd srf aren g1
I Oete]

X1 ol &Il

X 2. GUYg AP Bl

X 3. Df & URYH S
v 4 fRYfd Iae &

Q.10

Ans

faU 77U WIsg &1 TaiTard! J1d Hifod|

feram

X1 &
X2 &
'}(3.@3
4 7




Q.11

Ans

fau 77U a19g # YW@ifhd Usal & fore Tl Wsal arct f[hed &1 g4 ®i |

BH TH g o J1 gH Iy SI Hig ford|

v SHTH EH & 91¢ gH T Sl i |
X 2. HTH WH B & dIG gH- Jdly B Gig aradl|
X 3 Ufkad &t faRgdHdl Tel o

X 4 B WH BH P 91G gH a1y &I 91 feg |

Q.12

Ans

faU 77U WIsg 1 TaTard J1d Hifod|

Hcd

@?1.3@1
X2 oy
X3 IR
X 4 gedl

Q.13

Ans

T aT 997 H, I [&TFeat # ¥, 37 Hel [SFed &7 999 F{ AT JFART & oT TF 2reg &7 [FFeT

gl
S IET TER ¥ 7T F FART &

7 37alfehep
X2 e
V5 el
X 4 3ETET

Q.14

Ans

fafeiRad us 4 IR faeedl & 1, 39 [ddhed &1 9g+ &< ol Rad RIF o iU T8t Higards G311 arar [dded el
IRER A I AT S Id I B! Tag &t it

@1.3,—4111
X 2. JHN
X 3. hgdl
X4 FHifg

Q.15

Ans

faT 710 arguie & e arefe Yse 31 Sifow|

foreep g JUHT A &l
X1 s

X2 f3gy
gs.&lﬂqq

X i




Q.16

Ans

Q.17

Ans

Comprehension:
A fow a3 wrg@rr 7 Fo oeg o3 Rd av F, 93e Hg=oq & wEa IR feeq R aw #) gw gy
Fr eUAEF T¢ AR A foedt 7 F wafcaw e Fren e T+

G e R a1 JAFSN F 6 ScEass _ F A B ¢ Tg HAUANIT HefHd g &
S WIEd, 3cEg, AR HEg Fr afafRfm & R gar g1 ug i off R & SR A AEr Jaan) sEer
TR FFRIcHA® 21T ¢, S 88 o AT aaT ¢ AR FEE 9 geae AR afe agee g
Teafy, WEfEE AT Fl o F e F 7 g ¥ e s onfle st @ e S wd
g F & qar fAfee gar ¥ e, a7 e B @ F e over sent gar ¥ e F
Feeret Afafafat &1 wag @ar g, S 378 Fo EEnnlaw g ad §) 3§ e # afafafewr sce
ﬁiﬁﬂﬂmﬁmqﬁmaﬂtmﬂmﬁﬁ%lﬂﬁa@ﬁm&ﬁm@m
TR IgoEl F 5T Br g1 YA F1 PN AfAaaal F JAg 21T §, S 3ef o HEAEEs
e 3 B

SubQuestion No : 16

AT arer &1 T1 AFTFET FI A 3cETE HT HTHT FT ¢

v . FrfataTer
X 2. gHETOT

X 3. gﬁ’iﬂ
X 4 quTTelr
Comprehension:

A BT 3 sy & $o e ofs o 71T g, 9% Hegsoe & WA AN Heed AT AT §| 59 e
F AAES T¢ AN TR fawedt # § FalcadH Seal Froll [9ehed el

S aT FA A VAL FH P SoEREEF  H FGHT FAS &1 TE ATCAANT T g &
S WEH, 3cdg, AR A H AT § o7 2ar g1 I8 FE s 9RunE F §R 7 FET Waan 60
TROUTH FHRIcHS 21T ¢, S &8 $O A T ¢ I gEH . 9879 JA AR @i agare g
AT, EAF AT FET o % 9 H AgT @ ¢ 3K e uefaes Rt & Aaw g '
Yol S & Jar fAfeE ger ¥ e, wg St B W % HFER oieT et g §1 JEre
Feeret Afafafat a1 wag @ar g, A 378 Fo EEnnlaw e ad §) 3§ e # afafafewr scme
i w ol A § omdh wply wew it e Ak @t ¥ & wga @ @t §, e qu Shaw
TETaw pTal & 81T g ¢ AR FH HHTer Aol & §AE 8T ¢, S 3e¢ $O TS
T 3 2

SubQuestion No : 17

ST INUTH FENICAF 2T ¢, 5 g F5 @ aar § 3K 55 FeTE TR AR e Tgea
gl

X 1. 2

X2 gIgHr

xs.swsﬂ

o 4. deh{TcHh




Q.18

Ans

Q.19

Ans

Comprehension:

A fow a3 wrg@rr 7 Fo oeg o3 Rd av F, 93e Hg=oq & wEa IR feeq R aw #) gw gy
Fr eUAEF T¢ AR A foedt 7 F wafcaw e Fren e T+

G e R a1 JAFSN F 6 ScEass _ F A B ¢ Tg HAUANIT HefHd g &
S WIEd, 3cEg, AR HEg Fr afafRfm & R gar g1 ug i off R & SR A AEr Jaan) sEer
TR FFRIcHA® 21T ¢, S 88 o AT aaT ¢ AR FEE 9 geae AR afe agee g
Teafy, TEfdE T At o & Ay F a8 o ¥ e e o snf & et a1 w §
g F & qar fAfee gar ¥ e, a7 e B @ F e over sent gar ¥ e F
Feeret Afafafat &1 wag @ar g, S 378 Fo EEnnlaw g ad §) 3§ e # afafafewr sce
ﬁiﬂﬂﬂ@?ﬁ'ﬁﬁmﬁrqﬁmaﬂtmﬂmﬁﬁ%lﬂﬁa@ﬁm&ﬁmﬁym
TR IgoEl F 5T Br g1 YA F1 PN AfAaaal F JAg 21T §, S 3ef o HEAEEs
e 3 B

SubQuestion No : 18

T, AEfls T wal o F T H A4 T § 3R 39 ERfEE FE & TRaR e '/
2l

X 1. T

X2

X 3. GHTOT

v 4 qfoTH

Comprehension:

A BT 73 sy & $o e ofs fod 71T §, 9% He=oe & WA AN Heed AT aw §| 59 e
P AAES T¢ AR TR faFedt # § Falcadn Seal Frel [asheq ol

T arer FF AT JARRY F B ScEEEaSE _ H T U &1 T AN FFHT g §
S TIEH, 3cAmg, AR AEe Fr afaEfeat T o g@ar 1 3g F= o ooy F e F S8 @A swer
TRUTH FHRIcHS 21 8, S g8 $o a1 &1 § IR guh 9 FHA 3R Al age E
Teaft, WEfUF ARt Fl st F Ay F a7 | ¥ 3 o wefle st @ e = wa
yelis I & QA AR @i § greites, g s $ W@ & HFER AlST T BT 81 A=
Feppraeat Afafafat &1 wag @ar 8, St 38 Fo wEEnElaw e ad g1 3§ e # afafafewr s
ﬁ?iﬁﬂﬂ@?ﬁﬁﬁﬂﬁrmﬁ%maﬂtmmm%lﬂﬁa@ﬁmﬁﬁm@m
WEfF Hwal & o1 giar g1 (A F1d Fegerael fafafaal &1 wag @iar 8, St 308 o e
3o & E

SubQuestion No : 19
T Rg & o 3Rk mew & o1 @ § Bh gy mrw @k S e @ €
X1 8

X2 Q?T"ﬁ'

X3 FoHE

v 4. 3cHIg




Comprehension:
A fow a3 srgEr F Fo oeg o3 AF v E, 93e Hg=oe & wEa 9 feeq Ru aw ) gw ey
N AT 98 AN TN Reedt # & Falcad 3ea¥ e T T

A arer F AT JARY F F ScwEEadE _ F T U g1 T AYANAST FFHE g §
S WEE, 3c9g, AR Hee Hr alafmt ¥ o g 31 38 FE s IRunE F SR 7 FE7 Wean 60
TR FFRIcHs T ¢, S g8 O AT & g AR gEH 9 gea IR afe agee
Teafy, WEfAE ARt ael s ¥ Ay F f aa ¥ i e onfle anf @ e w1
yelis I & QA AT @i § greites, g s $ Wi & HFER AIST T @ &1 A=
Feperaert fafafat 1 wag 2ar ¢, A 3¢ Fo sEEnfaw e & €1 W e # aifafafowr see
aﬂ?iﬁﬂﬂmﬁﬁm@mﬁmaﬂtaﬁﬁﬂmﬁraﬁﬁlﬂﬁﬁﬁﬁaﬁﬁﬁm@m
WEFHF Hgwal § o1 Aar g1 YAHN FA Feperaen AfAafadl &1 Tag @ar 8, 3 308 o HEaEas
3o & E

SubQuestion No : 20

2 JeTEIY FE AT AARTOIT F TR A E, S 3 $O HESTES & &l

Ans

X1 fgwar
v 2 g
X5 gHA

X4 g






